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Instructions for Candidates

Write your roll No. on the top immediately on receipt of this question paper.

All questions carry equal marks (16.25 marks each).

Attempt any four questions.

Note: Answers may be written either in English or in Hindi; but the same medium
should be used throughout the paper.

5. Use of simple calculator is allowed.

b=

1. (1) The following table provides the sources of electricity used by households in a city.

Source of Electricity (1) Percentage
Coal 39%

Hydro and Renewables 13%

Natural Gas 27%

Nuclear Pwer 19%

Other 2%

(a) Construct a pie chart.
(b) What percentage of power is derived from coal, nuclear power, or natural

gas?
(c) For above data, do you prefer using a pareto chart or a pie chart? Why?
10
(i1) “A coefficient estimate is statistically significant at the 5% significance level”.
Explain. 3
(ii1) Differentiate between the scatter plot and the time series plot. 3.25
1. (i) AeIfaf@a arfelsr T gy # B gaRT 39T fhU S aret fostell &
T FeTe X gl
Source of Electricity (1) Percentage
Coal 39%
Hydro and Renewables 13%
Natural Gas 27%
Nuclear Pwer 19%
Other 2%
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2. (1)A survey of 1,700 shoppers were asked, “Does social media influence your
purchase decisions?”” The results indicated that 20.3% of females responded that their
purchase decisions are influenced by social media compared to 10.5% of males. The
sample sizes of males and females were not provided. Suppose that the results were as
shown in the following table:

Gender

Influenced | Male Female Total
Yes 89 173 262
No 761 677 1438
Total 850 850 1700

(a) Construct contingency tables based on total percentages, row percentages, and
column percentages.
(b) Which gender enjoys more doing shopping? 10

(i1) What is the difference between simple random sampling and systematic random
sampling? 6.25
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Gender

Influenced | Male Female Total
Yes 89 173 262
No 761 677 1438
Total 850 850 1700
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10
(ii) ITROT Iefes giaads 3R cuafdyd Irees ufaadd # Fa1 3R
T 6.25
3. (i) The following is a set of data from a sample of n = 11 items:
X Y
7 21
5 15
8 24
3 9
6 18
10 30
12 36
4 12
9 27
15 45
18 54
(a)Compute the covariance.
(b) Compute the coefficient of correlation.
(c) How strong is the relationship between X and Y? Explain.
10

(i1)“Each average has its own special features and it is difficult to say which one is
best”. Explain and illustrate. 6.25
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X Y
7 21
5 15
8 24
3 9

6 18
10 30
12 36
4 12
9 27
15 45
18 54
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4. (i) The following table provides the data about the cost of electricity during July
2015 for a random sample of 50 one-bedroom apartments.

96 171 202 178 147 102 153 197 127
82 157 185 90 116 172 111 148 213
130 165 141 149 206 175 123 128 144
168 109 167 95 163 150 154 130 143
187 166 139 149 108 119 183 151 114
135 191 137 129 158

(a) Construct a frequency distribution and a percentage distribution that have class
intervals with the upper class boundaries 99, 119, and so on.
(b) Construct a cumulative percentage distribution. 10

(i1) Explain the problems of using a t-test as a hypothesis testing approach.
6.25

4. (i) fe=T Arferer SJers 2015 & RS 50 Uh-d5&H HUCHE & ATEeod A5
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96 171 202 [178 |147 [102 |153 |197 | 127
82 157 185 |90 116 | 172 | 111 | 148 | 213
130 | 165 | 141 |149 |206 |175 |123 |128 | 144
168 |109 |167 |95 163|150 | 154 |130 | 143
187 | 166 | 139 |149 |108 |119 |183 |151 |114
135 191 | 137 |129 |158
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10
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5. (1) The following set of data is from a sample of n = 7:

12 (7 4 [9 [0 [ 7 3

(a)Compute the mean, median, and mode using either R/Excel .

(b)Compute the range, variance, standard deviation, and coefficient of variation
using either Excel/R.

(c) Compute the Z scores. Are there any outliers?

(d) Describe the shape of the data set. 10



(i1) How would you interpret the sign and magnitude of a calculated ‘r’? Consider in
particular the values =0, r= -1 and r=+1. 6.25
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6. Write short notes on any two of the following:

(a) Boxplot

(b) Central Limit Theorem

(c)Primary and secondary data 16.25
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